GEAR-WORM REDUCER SERIES

MODEL : AS067

s
128
AR~ Input
AHER I,
Input Flange =
(0] =2}

236

236

134

N

-J/

22

92 _|_ 100 8-M10X1.5
192 deep20
4-M12X1.75
deep24
[l
| —§ -
159)
0
76 | 76
@ A6
4-A7
?(p ;
A3 ;ﬁ
3 (@)
Fon N
Input Shaft
AL
@ A8

unit: mm

0.75 kW M10x1.5 200
1.5 kW 45 27.3 24 165 130 M10x1.5 200
2.2kw
3.5 KW 59 31.3 28 215 180 M12x1.75 250

C9




B5 IR & RUR # R 5 GEAR-WORM REDUCER SERIES

£ 7IR~F Output
80 _ 190
T
56_| 7
g # =
aspAL oA oo]j _ -
ouponet ) ) %ﬂ [0 -
Hollow Output 2:a5ﬁ Solid Output Shaft |
EYRYeepal
GEPIE %
AIE 2 —
Torque arm F
S ‘ (L
N |
70
=
AR 3 3 =
9 e
Flange

" ewer | o | ew | aaw | anw
SRR
S rao | 0T | se | otwm | s | o | s | omwm | s
20 72 145 213 359

5.16 2.56 1.74 1.03
30 109 3.96 218 1.98 320 1.35 539 0.8
40 145 3.25 291 1.62 427 11 718 0.65
45 154 2.62 309 1.3 453 0.89 763 0.53
60 206 215 412 1.07 605 0.73
80 258 1.46 517 0.72 758 0.49
90 268 1.49 537 0.74 788 0.5
100 224 1.42 449 0.71
120 358 1.22 77 0.6
140 (141) 336 1.07 673 0.53
160 425 0.88
180 434 0.66
200 449 0.56
240 579 0.53

& umMing C10



